CosyLifeStyle®

Manual
for
Gazebo Santa Ana
4dx4m



=l

A ————— N

/

4x4m assembly instruction book




Packing list

NO. Pcs NO. Pcs shape
A 4 pcs 11 4 pcs \ 700
B2 | 4 pcs 2| 4pcs L
C2 | 4pcs J | 1pcs
D1 | 4 pcs K | 1pcs L
D2 | 4 pcs L 1 pcs T~
F | 4pes g M1 | 8 pes i A—
=

Gl | 4pcs | 2608 M2 | 8 pcs ————

. 2
2| v il R =

1260
H1 | 4pcs % N2 | 4 pcs |\\ — /|
/ ~N

H2 | 4pes o1 | 4pes| [T 2025 =

2/7



Packing list

Pcs shape NO. Pcs shape NO. Pcs shape
4 pcs
i 2025 7
4 pcs
Iv Y’] ; V2 1 pcs i
V1 1 pcs
8 pcs
4 pcs 1
8 pcs
8 pcs
W1 3 pcs w2 3 pes
8 pcs
8pes| === p
““““ 8 pcs
———— vt P I‘;.i/
4 pos A X1 1 pcs = X2 1 pcs R
— Screw fittings
NO. Specification Pcs
2pcs 2pcs
a M6X16 130pcs @IIIIIII]
_— T2 ] b M5X10 8pcs (>
E H c 1pcs "))
2pcs 2pcs d M6X35 | 56pcs —mm
e M6X45 | 15pcs T
— f M5X20 | 16pcs 1)
7

3/7 3



D1

Place as indicated by
the attached arrow

'

|

T2

B2

B2

B2




il

Z
L]

—

_—/a

—ml

e —







__Adjust the wheel to
" a suitable height

Release the screw first, adjust the appropriate height of this plate,

and then lock the screw to prevent the door from falling off..___
T 1~2mm

%
e NN S

= =
F = |
| =

W2
|
V1
V2

7/7



DANCOVER®

Contact information

Austria

Poland

Belgium

Ireland

Croatia

-#F-E-

Portugal

S

=

Spain

.
- ':_1-?1- y

M.

Denmark

Estonia

=] Fr[E]
=

[l e =

SR
R
OO

Switzerland

-

|"|!""-al' a5
-:I:F'L'*-:.. T

Finland

France

o7

-

Norway

F =l .
L | 02t

For more information please visit: www.dancovershop.com




